@

As required by Florida Statute 553.842 and Florida Adminisirative Code 9B-72, please provide the information and approval numbers on the building
components listed below if they will be utilized on the construction project for which you are applying for a building pemit. We recommend you contact
your local product supplier should you not know the product approval number for any of the applicable listed products. Statewide approved products are
listed online @ www.floridabuiiding.org

Category/Subcategory T Manutacturer Product Description I Approval Number{s)

1. EXTERIOR DOORS

A SWINGING Plastpro Swinging Doors Exterior FL-16094.1

B. SLIDING

C. SECTIONAL/ROLL UP

D. OTHER

2. WINDOWS

A. SINGLE/DOUBLE HUNG Mi Single Hung Vinyl Windows [FL-17499

B. HORIZONTAL SLIDER

C. CASEMENT

D. FIXED

E. MULLION

F. SKYLIGHTS

G. OTHER

3. PANEL WALL

A.SIDING Hardie Concrete Masonry Siding fFL-13192

B. SOFFITS

C. STOREFRONTS

D. GLASS BLOCK

E. OTHER

4. RDOFING PRODUCTS

A. ASPHALT SHINGLES Tamko i ral Shi FL-18355-R4

B. NON-STRUCT METAL

C. ROOFING TILES

D. SINGLE PLY ROOF

E. OTHER

5. STRUCT COMPONENTS

A WOOD CONNECTORS _ ISimpson Wood Connectors / Anchors

B. WOOD ANCHORS P4 10456.43
C. TRUSS PLATES A 16 11473.3

D. INSULATION FORMS STA 24 10852.4

£ UNTELS IABW 662 10849.6

F. OTHERS ABW 442 10849.6

6. NEW EXTERIOR

The products listed below did not demonstrate product approval at plan review. | understand that at the time of inspection of these products, the following
information must be available to the inspector on the jobsite; 1) copy of the product approval, 2) performance characteristics which the product was tested and
certified to comply with, 3) copy of the applicable manufacturers installation requirements.

Further, | understand these products may have to be removed if approval cannot be demonstrated during inspection.

NOTES:




WINOOW

WIDTH

REVISIONS
REV DESCRIPTION DATE 4PPROVED
A | REVISED PER 2007 FBC 8/13/08 |R.L
B | ADDED ANCHOR CHARTS 01/25/12 |R.L
C | REVISED NAME 10/15/13 |RL

"8

* ]
B [ il __m
" ro o NOTES:
17" 06 £CUALLY AT 1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMFLY WITH
whpow  WAK AIABRS <_ﬂéqmmoﬁ|m§_.|__lmﬁwlilmv¢_om REQUIREMENTS OF THE FLORIDA BUILDING CODE.
" s g P = _ 2) OPENING TO BE DESIGNED TO PROPERLY TRANSFER ALL LOADS TO STRUCTURE. OPENING
/ DESIGN 1S THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF RECORD.
| \ 3) CONTRACTOR S RESPONSIBLE FOR MAINTAINING STRUCTURAL INTEGRITY OF WINDOW DPENING
I : \ a AND ALL WOOD FRAMING ARGUND WINDOW.
\ 4} WINDDW FRAME MATERIAL TO BE PVC
[ 5) ALL FASTENERS SHALL BE MADE OF CORROSION RESISTANT MATERIAL.
i & o_n B) SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD BEARING SHIM. SHIM WHERE
Il_ | _ SPACE OF 1/16" OR GREATER OCCURS. MAXIMUM ALLOWABLE SHIM STACK TO BE 1/4"
A~ |e— & ) ;
l— Ewaxi(rre) 7) INSTALL UNITS IN SPRUCE PINE FIR OR BETTER USING 6d .120" DIAMETER NAIL OR #8 WOOD
i chenli sironain ORI G 0eg SCREWS LOCATE ANCHORS 6" FROM EACH CORNER AND 17" MAX O.C.THEREAFTER,
Unit width (in) B) APPROVED IMPACT PROTECTWE SYSTEM IS R IRED CN THIS PRODUCT IN WIND BORNE DEBRIS
E R O A " REGIONS,
[ Pos | Neg | 9 | Pos | Neg [|Pos | Neg | Fos | Neg | Pas CAULK BEHIND WINDOW FLANGE AT HEAD, SILL AND JAMBS.
350 525 (350525 350] 525 350 525 mbm. 9) & P v
(350525 (3501 525 350 525 3501 5250 5es] 10) USE CAULK FOR PERIMETER SEAL AROQUND EXTERIOR OF WINDOW.
Enez) uu.a..m.mmm !iwm.m ..Wm%nm estetes| 1) WHERE WATER RESISTANCE TEST REQUIREMENT OF 15% OF DESIGN LOAD APPLIES, POSITIVE
: 0] 525 35 ; 1 2] A S : 2
ExIba EO IR ETg G ETI O Wmm__mﬂmhm_ﬂmmﬂwmm IS LIMITED TO 35PSF DUE TO WATER TEST PRESSURE OF 5.25PSF
(35.0 | 52.5 | (350 525 35.0] 5255 350 @74 35.0 | 408 e B
Eea ERO e E (55 o 388] 12) IF EXACT WINDOW SIZE IS NOT LISTED USE NEXT LARGER SIZE FOR THE APPROPRIATE DESIGN
[350[ 525 [35.0 525 | 950 525 350 | 5 41.7 | 350 | 350 | PRESSURE.
13) UNITS MUST BE GLAZED IN ACCORDANCE WITH ASTM E1300-04 AND MAY VARY DEPENDING
Number of anch quired. Units anchored using 6d nails. LUPON SIZE.
Unit wedth (in)
Haight 2 10.60 7950 : 3T i 3980 | 45,60 550 4760
& mb|H & SUamblH & 5| 4 lamb|H & b S| & m H & S|
. Z | 2 2| 2 212121312 3] 2| 513133l alatalala
2 3 3 2 3 2 3 3 3 3 3 3 3 3 3 3 4 4 [ 4
Z (3 213 1z [ 313313 3 I ) T 415213
2 4 2 4 4 2 4 3 4 3 A [} 3 4 | 3 5 5 4 5 4 5
K 2| 4] 219 T2 4] 3]+ [ T ] 315131]¢% [(BENENE]
2 4 2 4 4 2 4 3 4 5 3 5 3 5 3 5 4 5 4 5
2 4 2 4 4 2 5 3 5 5 3 5 3 & 3 [] 3 4 [] 4 5
2 5 2 5 [ 2 ] 3 [:] 3 [ 3 7 3 7 3 T 3 7 4 [ 4 8
ET— ISR SIGNED: 10/18/2013
- | W D W
Height [ 47.80 10.50 2350 7150 29,50, 50 3950 | 4150 .50 13 M _ZU._AWH.. ws__ ﬁuﬁ?@»@%mm LLC 6,.94@ R. ._.Oﬂx\\\
n |1 & spa r..nmc-ixp.r:r:nurma&x:c.aa Lamb|H & SDemblH & sliamb|H & & Slamb|(H & SLamb CARROLLTON. TX 75008 h.;..v/...o.m.___u. e A
760 | 2 | 2 | 2 |2 | 2 (2|22 |3|2]3lz2)s]z2]3lz2131z213 4] 2|42 J SMW S.o.”u\n.
B0 | 2 [ 3|2 |3 |2 3|2 |3|alafala[a]ls|alals]a]os /S NN SERIES GA 7050 RECTANGULAR PVC SH Sk xZ
wso| 2 |3l 2|32 13lz213lzalalslzlzalalzlalslzals N EREEE TILT WINDOW - 53 1/8 X 72 - .
ars0 | 2 | 4 |2 sa ] 2T4afl2ls4alalslalafalzlalalala 4T 4]l aT4 INSTALLATION DETAILS AND DESIGN PRESURE CHART §= . STATE OF .mm.
6150 | 2 [ 4 | 2 | 4 | 2 | a | 2| 4| 3| alalalals|alalafal]a 4] 4] 4] 4 \\V..bn NS
B0 2 | 4|2 |42 4 2[s]a[alalelalelelelslel> AEEEEE DRAN: OWG NO. 7 Qs SORDL NS
8076 | 2 [ 4 [ 2| 4| 2| a]z]e|la3lalalalalalslalalal]z e ] 4| 2| 4 R.L. 08-00248 c .%\\%.«ozrrﬂ&n///x
7200] 2 | s 2a]sT 25|25 |3|6|3ls[3]5]aslslals]z2 415|458 SAE NTS  [°E 9/09/07 [*557 oF 2 HEnaW
T T T s i ===

JI



REWVISIONS
REV DESCRIPTION DATE APPROVED
CAULK BETWEEN FIN A | REVISED PER 2007 FBC 8/13/08 |RL.
SHEATHING & SHEATING :
B OTHER \I 8 | ADDED ANCHOR CHARTS 01/25/12 |R.L
v —1 12" NN, C | REVISED NAME 10/158/13 | RL
INSTALLATION \ | EMBEDMENT
Ao ) 2 x wooD SHIM AS REQ'D. (SEE NOTES)
BY OTHERS
\ 2 X WOOD—, = WINDCW WIDTH : \ 2 X WOOD
BY OTHERS | BY OTHERS
PERIMETER / \’
CAULK BY OTHER
_ / SHIM AS REQ'D *
z (SEE NOTES) ¥ B}
AN TYPE E _Mmmn;m.bﬂ. ﬂ sz._m\mmuzw_,_ﬂ__
) e~
VINDOW FRAME e ! 1
HEADER = * % ||IJ
1= = .
y / SHEATHING
ﬁ BY OTHERS
ol
CAULK mﬂsﬁmzl\ 7 /I_zw;_.c:_oz
I FIN & ;
EXTERIOR WNGow £ u\ EXTERIOR ANCHOR
PERIMETER CAULK
FIN. TYPE
WINDOW FRAME JAMB - , BY OTHER
WINDOW SECTION B—8B
HEIGHT
FIN TYPE
WINDOW FRAVE—, g
SILL / ‘
\ ~SILL STOOL Horizontal Vertical
\ BY OTHERS vy = find
The Horizontal | Horizontal Vertical Vertical
/ Call Size \FD Call Size IFD
1-6 17 112 2-4 27 1/2
b = 1-8 19 1/2 30 35 172
PERIMETER Qc;\ { SHIM AS REQ'D 2-0 23 12 38 43 12
BY OTHER N (SEE NOTES) 2.4 27 12 4-0 47 172
2-6 29 1/2 4-4 51 12 .
CAULK BETWEEN -
RO \ WINDOW FIN & 28 | 3134 48 | 5512 Ml WINDOWS AND DOORS LLC
ANCHOR 3 T SHEATING 30 35 1/2 50 59 34 1001 W. CROSBY RD.
'\\\ o i 34 39 12 SPCL 72 CARROLLTON, TX 75006
SHEATHING EMBEDMENT 3-6 41 12 SERIES GA 7050 RECTANGULAR PVC SH
BY OTHER 3-8 43 12 TILT WINDOW - 53 1/8 X 72
20 47 12 INSTALLATION DETAILS AND DESIGN PRESURE CHART
wm__,\ujo_./_ b,l) SPCL 53 1/8 DRAWN: OWE NO. REV
R.L. 0B-00248 c
SCAE NTS [P g /09 /07 |s==2 oF 2




W)
N @ eorzes 7
N A Z
~ 000 -
= L 1 x=Z
,...__.l...._.. =¥ d 2A\W . -
-/ % \ o« -
ll" [ %O. L) E -
= * o GEE
= 1 ;- JEX
- m.Av. i
- . ¢ S
— &N O I
-~ to > Oﬂ' g &. Sy
L s, FLOL- -~
RO
\\u £88\0 /f/
4 _ 3 <+ PELLTITITIV\ N 1
‘Window Options :
For Glass:
Max daylight opening 39-3/8 x 12-1/2"
(up to +44.3/-51.5 psf)
| 160" (see notes for other widths) Max daylight opening 16-3/4 x 10-1/4"
(upto +50,7/-57.5 psf) D
Optional Standard Lites Mm“ ww..w i
. 0 _uon& 5
@/ {see window options) M § Gliss
716" Tempered Insulated Glas
Top Fixture For Lexan: y
Max daylight opening 16-3/4 x 10-1/4"
|_I {0 O T O il
# s | 1/4" Lexan with Aluminum Frame [
__‘ Q2A\02: oA oA /A oA : oA oA
i ﬂlllll ﬂi t" "... door height = BE
6-6"t0 70" | 4 4 3
T-6"t080" | 5 5 4 c
—_— el 8.3"to 89" | § 5 4
90"t 10~6"| 6 | 6 5
i — i 109" wi1z-3"| 7 | 7 6
I-i I-“_ _r.l1l.l| e - T o
N @/ __I__ :I_" _,I__.__I__ | — ._|1_ _I__ _HI__ | 126140 | 8 | 8 | 7 e
S {| | | N— | ) |/ — || — 14-3"w0 159" | 9 | 9 8
g s s = 16-0"t017-6"| 10 | 10 | ©
o 176
ﬁﬁ%&.suggnﬁ_cﬂasﬂoua&onegbm;muuo.ae_nbzmsu.wuz} 108-02 and 108-05, 179"t 193" | 11 | 11 | 10
Per ASCE 7-10 as referenced by FBC 2010,
Design Pressures (DP) typically meet or exceed the requirements for the following wind speeds. 19-6"tw0 200" | 12 | 12 n
These wind speeds are for 7' high doors, taller openings typically withstand higher wind speeds. Strut Attachment Strut Track brocket quantities showa are for B
Width Design Pressure Exposure "B" | Exposure "C" {Windows |Center Stiles use with grade 2 or better spruce-pine-fir
21-00" | 109 (psf) /- 12.1 (psh) 10 (mph) 93 (mph) 10| (SPF) or southern pine jambs,
[20-00" | 12.0 (psf) /- 13.3 (pst) 15 (mph) 98 (mph 10
Il FETC T :_mmw 121 (mph) MEEW 1 E
18-06"_114.0 (psf) /- 15.6 (ps 124 (mph) IE : g Supplemental Instructions contain details
18-00" 114.8 (psf) /- 16.4 (psi) 28 . 4 ) for doors up o 200" high. These are required in
1¢ % i E  (psf) mw.hﬁmmwu m,:mm.u 3 Supporting structural elements to be designed addition to this drawing for installation, Always [—
-00" |18, - 20.8 (psf) (mph) 5 by registered professional engineer for lemental instructions this
[15-00" | 19.9 (psf) /- 22.2 (psf) 47 (mph) | 124 (mph) 4 specified wind loads. If door is not msa%n_ﬁnﬂﬂa [
14-00" 1214 (psf) /- 23.8 (psf) 52 (mph) 28 (mph) 7 4 electrically operated, a lock must be installed.
12-00" 1249 (psf) /- 27.7 (psf) 163 (mph) 38 (mph) [ 5 Maximum door height: 200" L a ——
[11-00" wm" .ﬁ?:,o.;% %namw 43 (mph) 5 E Maximum section height: 21" = [ i
[10°06™ [38.5 (pet) /- 31. 73 (mph) | 146 (mph) |3 2 e : 03-15-2012
00" 129.9 (psf) /- 333 ( 77 49 5 4 i{ff
09'-06" | 31.5 ﬂmbﬁan-t. w@m@ ] Mﬁw &HEW A E ﬂF &@@A_ N@Aﬁ ﬂ.ﬂﬂ\ - Model gma_ 2250, 2251 A
000" 337 (psf) /=370 (psh) 85 (mph) 56 (mph) B 3 Professional Engineer's seal provided John E. Scates, P.E. 374 (psf) /- 41,6 (psf) at 08'-00" through
806" 135.2 (psf) /-39.2(ps) | 190 (mph) | 160( 4 : only for verification of windload 3121 Fairgate Drive 109 (psf) /- 12.1 (psf) at 21-00"
08-00" | 37.4 (psf) /- 41.6 (psi) 195 (mph) 65 (mph) 4 construction detiils Carrollton, Texas 75007 -
Pressures must be reduced by the ratio of widths squared for a door Wider than one shown, chon, Texas C.HI Drawing: FZ3-16-01311
Pressures may be increased by the simple ratio of widths for a door narrower than one shown. Florida P.E. # 51737 page 1 of 2

! _ 3 N 2 | 1




-
iiiiii

4 I

| 1

N

Strut (if applicable) not shown for clarity.

(.059) galvanized steel top
fixture, Each fixture attached
with four 1/4" x 3/4" screws.

(.109) galvanized stee] top
fixture. Each fixture attached
with two 1/4" x 3/4" screws.

push nut

(.034) end stile
manufactured by C.HLL

r
Optional low head room top bracket

2" (max. for .069 thick)
4" (max. for .109 thick)

nominal @ 2" (min.)
10 (min.) ball roller
with nylon or steel tread.

(.102) galvanized steel bottom
bracket manufactured by C.H.I,
Each bracket attached with four
red 1/4" x 3/4" screws.

push nut

Aluminum extrusion

The vertical wood jamb fasteners may be counter sunk to provide a flat mounting surface.
See jamb attachment details for more information about attaching jambs to structure.

2" x 7/16" (nominal) stop melding to be secured with

minimum 8d nail or 2-1/2" long screw on 8" spacing.
Stop molding not required when door is more than 1" wider than opening.

nominal (.0185) galvanized steel minimum
yra

17

(.034) center stile 2" (min) x .045 (min)
manufactured by CHL  ojvanized steel track
End Hinge = Intermediate Hinge
galvanized stee] fastened (.058) galvanized steel
to section with fastened to section with
four 1/4" x 3/4" screws. — four 1/4" x 3/4" screws.
push nut q
2-3/4"
¥ 2-3/4"
- Tt
ﬂ _ 3-1/2" (min.) stem

1-7/8"

12" [J|

(.051) 50 ksi galvanized steel
3" strut attached with two 1/4" x 3/4"
screws per stile or hinge plate.

push nut

(.109) galvanized steel bottom bracket Professional Engi " 374 (psf) / - 41,6 (psf) at 08-00" through
gineer's seal provided John E. Scates, PE. APt

Bwh_wﬁngﬁuwm,ﬁ.m.w_‘ Each bracket attached ly for veification of windload 3121 Fairgate Drive 109 (psf) /- 12.1 (psf) ot 21'-00°

with four 7ed 14" X 34" scrows. constraction details Carrollton, Texas 75007  |C.HL Drawing: FZ3-16-01311

Optional low head room botiom bracket

0 W«N:P

Florida P.E. # 51737

Details on some views may have been omitted for clarity.

[

g 000 @)

(.086) galvanized steel ~

flag bracket fastened to
wood jamb with three
5/16" x 1-5/8" wood lag
screws.

Flag bracket attached
to horizontal track
with two 1/4" x 5/8" |
track bolts and nuts.

Flag bracket attached to —" N
vertical track with two 1/4"
X 5/8" track bolts and nuts,
Or two 1/4" x 11/32" rivets,

(.102) galvanized steel track 8
bracket fastened to wood jamb
with one 5/16" x 1-5/8" wood
lag screw per bracket.

A1,
Each track bracket attached with .\

one 1/4" x 5/8" track bolt and nut.
Ortwo 1/4" x 11/32" rivets.

_llu._n.i..|.|..|
nts

...@..mEmF, 1__._! 03-15-2012

Model 2240, 2241, 2250, 2251

page 2 of 2

3 N 2

| 1




RAGiients\Plastpro, Inc PERMANENTVA - Florida Product Approvals\FL-16094 N Series HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4 dwg, FL-160941

P

# plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS SINGLE DOOR
w/ or w/out SIDELITE(S)

Inswing / Outswing
"IMPACT"

GENERAL NOTES

This prociuct anchering drawing has been developed and is in compliance with the éth Edition {2017) Flodida Building

) Code [FBC) siructural requirements including the "High Velocity Humicone Zone" (HVHZ). See the Certification Agency

Certificate for sizes, specifications and rating.

Prodiuct anchors shall be os fisted and spoced as shown on detalls. Anchor embedment to base material shall be
beyond wall dressing or stucco.

When used in the "HVHZ" this product complies with Saction 1626 of the Florida Building Code and does not require an
impact resistant covering.

When used in areas outside of the "HVHZ' requirng wind bome debris protection this product complies with FBC
Sections 1409.1.2 & R301.2.1.2 and does not require an impact resistant covering. This product meets missile level 0"
and includes Wind Zone 4 as defined in ASTM E 1994 and FBC Sections 1609.1.2.2 & R301.2.1.2.1.

For 2x stud construction, anchoring of these units shall be the same as that shown for 2x buck masenry construction.

Site conditions that deviote from the details of this drawing require further engineering analysis by o icensed engineer
or ragistered architect.

Cutswing configurations utilizing the high dam sill (see Section 5/3), meet water infiliration requirements for "HVHI". Al
other configurations do not meet the water infiltration requirements for the "HVHZ" and must be installed only in
non-habitable areas or at habltable locations protected by an overhang or canopy such that the angle between the
edge of canopy or overhang to sill Is less than 45 degrees,

TABLE OF CONTENTS

SHEET # DESCRIPTION

Typical elevations, design p
Horizontel cross sections

k Vertical cross sections

4 Buck anchoring & bill of materials
5 Frame ancharing & glazing details

& general noles

W
75" MAX. OVERALL ™
375 MAX. OVERALL S
ERAME WIDTH FRAME WIDTH S )..
a ey
— - -l.
4% 1€ M Yy,
AW W 2 \_Q..:
B3 B2 >3 D
o8 2=
25 33§ A
th b=Z
=
s m 8 m
&

A
e

FRAME WIDTH

81.81" MAX. OVERALL

2 mm /5 D
§ 2
: o
h k p_p
MAX. DESIGN PRESSURE (PSF)
CONFIGURATION|  FRAME
DIMENSION | POSITIVE | NEGATIVE
X 37.5"x81.81" | +50.0 -50.0
X0/0X 75.0"x 81.81" | +50.0 -50.0
oXo 112.5"x 81.81" | +50.0 -50.0

2
2 a
z 3
S
S 2928
W gged
e 2%
mmmm 58e,
Az 3288
W
e s
5| .2
g &2
_wm s 548
32 |98
. B Rmm
b
B
Blick
E
m|R
23l Ly
o
El2
W
=
i
SIS
SIS
wE 12/10/12 |
SCalE:  N.T.S,
owe, ay: JK
CHIE. BY: LFS

DRAWMNG NO.:
FL-16094.1

SHEET _1_oF _5

02012 R.W. BUILOING CONSULTANTS IHE.



RACHents\Plastpro, Inc PERMANENT\A - Flarida Product Approvals\FL-16094 N Series HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4.chwg, 2.1

......

,:..:
e o K

1-1/4" MIN. 1-1/4" MIN,

EME. (P m@ Wv INTERIOR BB (VP Av Mm.v MO INTERIOR INTERIOR WQWQW L &) m
: .,._. _w _’ / " ._ 4 .. \\\\\s\ M. N mwmw
qunii w. % o Wi g
.;\\ il i o
o D’_;__\ Bl e
/\f EXTERIOR @\ .. . EXTERIOR | m
Mm 5 mm
2X Buck Construction __ wnm Wm
1174 MIN, m m
EMB. [TYP.) ,_ g _m_
INTERIOR Kl
@ﬁ % ,, ;
oy -

o
3
=
[y
B
1
=
|
e
ED.
ALLA
REVISIONS

| L
[) -

i

10/14/17 |UPDATE TO 6TH ED.
| 8/04/14 [CLARIFIED INST,
NOJ DATE |

© 2012 R.W. BUILDING CONSULTANTS ING.

F
oaTE: 12/10/12

. SoME N T.S.
\.\/\ Py T

CHK. BY: LFS

“a -
s
» s
a -
a
.
. bl a
(’{ ‘

3.|_mow.:
SHEET 2 oF 5




RA\Clients\Plastpro, Inc \A - Florida Product Approvals\FL-16094 N Series HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4.dwg, 3.1

@

e :
o~ :
B L
. 3 igm‘m e
fo 3 “"E’-‘ N‘O{B/Di%u CLARIFIED_INSTALLATION
ILDING CONBULYANTS ING. REVISIONS




ﬁlho -~ -
~ -
G Jamss (Tvp.) =& =+
&Py I8 g S5 2
. ~ ) € sa
& e L \\\c.w.... 5 3 i
. L e SR
|..7 _..lﬁ (TYP.) 4" (TYP,) \\\\ v 3 A
| IR S LT
A= 5 R RN = g, g3is
F 3 | +58 2ai
- .I. h - i o+ @D il
(o) | | S
TYP. HEAD _ ! o
it & JAMBS = T & JAMBS _ ‘ -
2% BUCK — _ _ o g
P
L - - - - l... - _ ‘ = m W@
4] 3E | i 3E By |y 39
c | | | |
— | = - - ] - - L O ———d| - ] I - L Q (=]
5 3 ge w o &
. e, el : d ' ! ] P
SR RN V.. [y - -T— b= L
ks
BUCK ANCHORING BUCK G BUCK ANCHORING
X XO/0X oX0 g2
Ll m
8
8
83 o
5l 2
BILL OF MATERIALS 2 g
ITEM # | DESCRIPTION MATERIAL (=) m
A | TXBUCK [SG >=0.55] WOOD wc
fh_JARTULR IS8 o ) it 'CONGRETE ANCHOR NOTES: b e
C | 1/4" MAX. SHIM SPACE - 1 Ec&uﬂm..zc_mnm_aﬁx&naaia @ different supplier moy have different edge Sl
0 a cen s, =]
D__[1/4"X 2.3/ PFHTW CONCRETE SCREW STEEL 1 Concrade oot ool of 11 Commats e ccgbict s ekl e il edas SRS
£ MASONRY - 3,000 PS| MIN. CONCRETE CONFORMING TO ACI CONCRETE distance fo mortar joints. Concrete ancher locations noted as "MAX. O.C. (TYP.)" must be =
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 achaled lo makiok fhe mb sdge dilance o fo marir o, adlfonl concrste nchors ~|~|2
G | 1/4"X3-3/4" PFH ITW CONCRETE SCREW STEEL a nga_._..;nﬁﬁns.n " B cmersion weandac e 12/10/12
H | 3/16"x 3-1/4" PFH TW CONCRETE SCREW STEEL — — soue  N.T.S.
K__ | #9 X 3/4" PFH WOOD SCREW STEEL ANCHOR | ANCHOR | . MIN. | MIN. CLEARANCETO | MIN. CLEARANCETO' owe. B JK
L [#8X 3 PFH WOOD SCREW (1-1/2" MIN. EMBEDMENT] STEEL TveE | sizE | IENT | | MASONRY EDGE | ADJACENT ANCHOR
M__| #10 X 2-1/2" PFH WOOD SCREW STEEL Wl e i ¥ -
1| FINGER JOINTED PINE HEAD & JAMB (3G 5= 0.42) WOOD JAPCON i FL-16084.1
sEET 4 of 5

D 2012 A.W. BUILDING CONBULTANTS NG,

RiClients\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Secies HVHZ ImpactiC - Drawings\FL-16094 (20171\FL-16094.1-4.dwg, 4.1




RACHents\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Series HVHZ Impact\C - Dvawings\FL-16034 (2017)\FL-16094.1-4.dwg, 5.1

& Y,
S W ¥ -..-...W n
MASONRY P N j JAMES [TYP.) S H * P22 oy
45" OPENING y s TS 45 (vp) 4T Z0B g 83y .2
ja%._ i A o 45 J iy _ll_.qav._J _.I_E: Z ¥, RS mmmu
K e s ~ B Nt oo 4 2P P Ssie
N | T 1 T 5 = T T T L T E] A o\e @ o.m i
= T - T |[[[ kB B85
iy . 53 n s o (-3
g i £ = d HRHT
k2 352 3558
e - 2 - -l % 8 / IE 43 skt
8w,
iy s
BUCK :
i FRAME- _ §5 &
4 - i - 1X BUCK we -
N e BACK-TO-BACK g
BUCK. & JAMBS JAMBS b
B BUCK - b S ]
s — om &g
e - om
7 TYP. g TP 3£ 5 &
: SILL SILL ; =
¢ © 5 o o = | =0 [ EW
b i } __.I 1 : - . : : L 4 = wi I m mnb
o TSl SEE LATCH & 5 &
SEE HINGE : DEADBOLT m g
DETAIL (TYP.) FRAME ANCHORING DETAIL  STRIKE JAMB g
HINGE JAMB FRAME ANCHORING ip:wman%%nﬁn TRAUE A JORNG —
X
BACK-TO-BACK JAMB ﬁ
4" X 4" BUTT W
—_ r——— HINGE 1X BUCK g2
i ‘HARDWARETABLE. i / W
T B s Sl (M) 2xsuck s
MANUFACTURER| . MODEL . . = I
: : .Ernumaﬁ : S IRGALIGRIE n- -.UA mm &
kwser | KNOB: - SIGNAI (DO 995) - \V@ 2
DEADBOLT:  SIGNATURE SERIES (980) e | 578" GLASS BITE d Elp| @
ODL ALUMINUM BACK-BEDDING SILICONE elal ¥
q LITE FRAME (READI-SEAL) HINGE DETAIL W m
CONCRETE ANCHOR NOTES;
1. Substitution of equal concrete enchors from o different supplier may have different edge ExT, 1" OVERALL GLASS THK. DEADBOLT W w
2 aﬁunnn__umau..,_ t1he - be adjusted to mainfaln the min. adge i ——— R - -
Onan_igg h%ﬂ.ﬂlﬂ.g ﬁ.gﬁ.un agaag%wﬂwng noted as "MAX. O.C. (TYP.)" must be 0.0%0" PVB INTERLAYER (KURARAY) BACK-TO-BACK JAMB ~ ..u/
adusted fo malnfaln the min. adge distance fo mortar joints, addiional concrale anchors umm
may be required o ensune the "MAX, O.C. (TYP.J" dimension are not exceaded, 1/8" ANNEALED GLASS 1X BUCK SISO
3. Concrete anchor table: AR SPACE = (O] ]
A : o . 2X BUCK |-
ANCHOR | ANCHOR | - MIN. -~ | MIN. CLEARANCETO | MIN. CLEARANCE TO INL 1/8" TEMPERED GLASS 2
| TYPE | SIZE || EMBEDMENT | MASONRYEDGE | ADJACENT ANCHOR #BX 1.5 PHSMS ALUMINUM SPACER ONE 12/10/12
o BACK-BEDDING SILICONE
mpcon®| & BV z & BEADESEAL) i
= LATCH STRIKE AT
Tarcon®| 18" 114 > 1z ! il PLATE 1 —
WOOD SCREW INSTALLATION NOTES: - 1
1. Maintain @ minimum 5/8" edge distance. 1° end distance, & 1" o.c. spacing of LATCH AND DEADBOLT DETAIL FL-16094.1
wood screws fo prevent the spiiting of wood. SMEET S5 oF S5

0 2012 A.W. BUILDING CONSULTANTS 1M,



